+ T 2t =1 = (—% 1)
PEH HPEET X0
Vi= 320.61 X  0.10 = 32. 06
Y = 32.06 | m® 32. 1
PR FHEELY
Vi=  92.21 = 92. 21
DI 92.21 | m® 92. 2
HEL HEELY
Vi=  61.21 = 61.21
> = 61.21 | m® 61.2
PEHIR ARG ErHell = 32. 06
i = 92. 21
= 124.27 | m? 124.3
A B E Kt vV = 0. 00
WEL = 61.21
= 61.21 | m® 61.2
5% AL ( #2E + R ) — ( &t + #HE ) /0.9
V=" 124.27 — 61.21 /0.9 = 56.26 | m® 56. 3




+ *% & 7t i %
- S M= L (% 0 L)
WoA 4| W A M W w | B £ R (Bm | F W | £ R | B@A| ¥ | E R
(m® (m® (m”) (m® (m® (m”) (m® (m® (m”)

NO. 0 NO. 0 0. 00 0. 00 0.94 0.81
NO. 0+13.5  |NO.0 13. 50 13. 50 0.94 0.94 12. 69 0.81 0.81 10. 94
GER 0. 00 1. 74 1.34 1.10 0.96
NO. 0+14.3  [NO.0 14. 30 0. 80 1.74 1. 74 1.39 1.10 1.10 0.88
NO. 1 NO. 1 5.70 1.74 1. 74 9.92 1. 10 1. 10 6.27
NO. 2 NO. 2 20. 00 1. 74 1.74 34. 80 1. 10 1.10 22. 00
NO. 2+12.3  |NO. 2 12. 30 12. 30 1.74 1. 74 21. 40 1.10 1. 10 13.53
NO. 2+18.3  [NO. 2 18. 30 6. 00 1.74 1. 74 10. 44 1.10 1. 10 6. 60
NO. 2+19.2  |NO. 2 19. 20 0. 90 1.74 1. 74 1.57 1. 10 1. 10 0.99
aar 59. 20 92. 21 61.21




kB EHW L EHRZFE

(—xH )
AR T
UZRU AR VAT
(3FE300A) = 13.50 -+ 13.50 27.00 | m 27.0
UZRUARI T AT
(3F%500A) = 38.00 -+ 44.00 82.00 | m 82.0
a 7 Y—RZE N= 27.00 +  0.50 —  3.00 51.00 | 51.0
(3FE300AH)
TVL—F T N= 27.00 <+ 10.00 3.00 | 3.0
(3FE300AH)
a7 U—RZE N= 82.00 = 0.50 —  9.00 155.00 | #& 155. 0
(3FE500AHH)
JTUL—F % N= 82.00 -+  10.00 9.00 | Kt 9.0
(3FE500AH)
FIRT
B SEEX LD
(b 2—2E0500)| L= 6.00 6.00 | m 6.0
ALK T
AE K SEEX LD
(500X500A) | N=  2.00 2.00 | X 2.0
B =N S, EEERTmEX L D
(t=10cm) Al= 27.00 X  0.10 2.70 | m?
$%No. 07> HNo. I AEI27Tm IR0, Im
A2= 12.00 X  0.50 6.00 | m?
$%No. 1+102> HNo. 21T M12m  FHIBEO. 5m
A3=  42.00 X  0.40 16.80 | m?
¥No. 07> HNo. 2f P £ fl42m  FEIBEO. 4m
> 25.50 | m? 25.5




U & f # @

& 300A)

(10m4 »)
UZURI;E (3FE300A)
SERBFUHAILLS
‘ 520 ‘
300
UZY4I;E (338 300A L=2000)
ﬁ ﬁ%&%wawﬂs)
= ‘ ‘
g B, S s (RC-40)
360
560
4 PR At B <P AVARE ¢
UL N= 10.000 = 2.000 5.000 | A& 5.00
(3FE300A) ( L=2000, 25 EH &=419kg/{# )
SHERRED YA 7 VR
e L& | V= 0.360 X 0.030 X 10.000 0.108 | m® 0.11
(1:3)
Pyl A= 0.560 X 10.000 5.600 | m? 5. 60
(RC-40, t=10cm)
FLEREIE A= 0.560 X 10.000 5.600 | m? 5. 60




U i il % N
2 v 7 ) — k& (3F 300) (15 0)
412
10 135 10
.
412
8]
5 402
W=45kg /&
4 PR At B BN
a7 U— K& N= 1.000 | #& 1. 00
(3%, B=300) ( L=500, 35 & &=45. Okg/#Z )

SR YA 7 VGRER G




U i) 181 15

JVv—F o7& (T-25,300) (L=19)
412
412

W=16. 5kg/#%
4 PR At 1 BN
TL—F o TE N= = 1.000 | 1. 00
(" 754w, T-25, 300) ( L=500, & EHE=16. bkg/# )

(BETHE~—27 A)

ZEEGEEY YA 7 Vg




U & f % @ F& 5004)

(10m*%4 )

| 750
500

125

© UEUaliE (3% 500A L=2000)
=18 s | 460 | T
M V BELZILA:3)
< 8 | /
= B, S S (RC-40)
‘ 540 ‘
‘ 740 ‘
4 PR At A AL
UL N= 10.000 = 2.000 = 5.000 | A& 5.00
(3FE500A) ( L=2000, 235 8 &-699%kg/{# )
SHERRED YA 7 VR
L& | V= 0.540 X 0.030 X 10.000 = 0.162 | m® 0.16
(1:3)
Pyl A= 0.740 X 10.000 = 7.400 | m? 7.40
(RC-40, t=10cm)
FLEREIE A= 0.740 X 10.000 = 7.400 | m? 7. 40




U i il # .
a7 J— k#E (3500 (1459)

a4y )—+E (URRIEITES00/)
ZERZATVYA Y IILEGR

622
S/
10\| 135 L]O
622

500
4 PR At A BAT|
a7 U— K2 N= = 1.000 | # 1. 00
(3F#, B=500) ( L=500, 35 B 5=45. Okg/# )

SR YA 7 VGRER G




U i} El 15 .
JVv—F o7& (T-25,500) (144 D)

F2584NTL—F 9% URAEIES0MH)
(EEHhET—IA)

1
1
1
R L]
L S—
L o—

p—
=

—— 1
L]
]
]
]
]

NN o

622
=,
L
=0

622

¢ 95

¢80

—

I :
njululsls Noo0no [—

0 =
4 PR At H BAT|
TV —F o TE| N= = 1.000 | #& 1. 00
(3 184V, T-25, 500) ( L=500, 25 E &=16. bkg/K )

(BETHE~—27 A)

ZEEGEEY YA 7 Vg




g ( ¢ 500

(10m4 »)
SET
&500
Ea—LE ($500)
N EEH (RC-40)
872
4 PR g B =V VAR ~'¢ 5=
ta—A% | L= 10.000 = 10.000 | m 10. 00
(¢ 500)
Pty A= 0.827 X 10.000 = 8.270 | m?® 8.27
(RC-40, t=10cm)
LR A= 0.827 X 10.000 = 8.270 | m? 8. 27




~

ZiS ad

500 X 500A ) (10259)
sk
500 x 500A
750
125 L 125
8 B
A n—kravsy—¢
- (18-8-25BB)
Si5isy ,[
E | 850 ||\ (RC-40)
‘ 950 ‘
4 PR At A AL
83 FIPUARERE 24 & 1.000 X 10.000 = 10.000 | & 10. 00
(500 X 500A) ( B EHEE=374kg/ 1 )
T—F T 1.000 X 10.000 = 10.000 | ¥ 10. 00
(T-25, 500 X 500)
A U R— K 0. 500 0.500 X 0.050 X 10.000 = 0.125 | m°® 0.13
ar7 Y—Fh
(18-8-25BB)
Efgar 7V —k 0. 850 0.850 X 0.100 X 10.000 = 0.723 | m® 0.72
(18-8-25BB)
[A] R 0. 850 0.100 X 4.000 X 10.000 = 3.400 | m? 3. 40
FAERS 0. 950 0. 950 10. 000 = 9.025 | m® 9. 03
(RC-40, t=10cm)
FLmmEE e 0. 950 0. 950 10. 000 = 9.025 | m® 9.03




W& a2 v 27 U — bk (10m224 1) )

4 PR At A BAT|
a7 U—k | V= 10.000 X 0.100 = 1.000 | m® 1. 00
(18-8-25BB)

H Hipt N= 10.000 = ( 0.333 X 10.000 ) 3.003 | &7

(A E A, =10mn) | A= 0.333 X 0. 100 X 3. 003
Sl ra10mfE 2 B 2 5 E T 5,
OO, 333m

0.100 | m® 0.10




MoO® T Bt

(—xK%E0)
T AT 7L MFLEET
EREE S
*=fE R EELD
(t=50mm) A= 320.61 320. 61
320.61 | m? 320. 6
e ARt EE LY
(M-30, t=100mm)| A=  320.61 320. 61
320.61 | m?® 320. 6
T ANEIH | A= 6.00 X 1. 00 6.00 | m?
SIEMINo. 14104738 ZER6m., TE1m
6.00 | m? 6.0




] e ] A = B =
) E ¥
WA RREw [ s @ m | wm | F B | @ | W | F B | m M
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)

NO. 0 NO. 0 0. 00 0. 00 4. 90 4.90

NO.0+13.5  [NO. 0 13. 50 13. 50 5. 90 5. 40 72. 90 5. 90 5. 40 72. 90
NO. 0+14.3  [NO. 0 14. 30 0. 80 5. 90 5. 90 4.72 5. 90 5. 90 4.72
NO. 1 NO. 1 5. 70 5. 90 5. 90 33. 63 5. 90 5. 90 33. 63
NO. 2 NO. 2 20. 00 4. 90 5.40 | 108.00 4. 90 5.40 | 108.00
NO. 2+12.3  |NO. 2 12.30 12. 30 4. 80 4. 85 59. 66 4. 80 4. 85 59. 66
NO.2+18.3  |NO. 2 18. 30 6. 00 7.00 5. 90 35. 40 7.00 5. 90 35. 40
NO.2+19.2  |NO. 2 19. 20 0. 90 7.00 7.00 6. 30 7.00 7.00 6. 30
&t 59. 20 320. 61 320. 61




5 g A (-} |} (100m224 1) )

P K =

avyl)—k

(18-8-25BB)

BEEHE

(150 x 150 x D6)

O //6 ,,,,, S

4 PR At A BAT| 5=
27 Y—Fk | V= 100.000 X  0.100 = 10.000 | m® 10. 00
(18-8-25BB, t=10cm)
VR4 A= = 100.000 | m? 100. 00

(150 X 150 X D6)




B E Y H E I HEE (3% 1)

ay 7 Y—h AR ELD
KarsBgE L | V= 15.39 = 15.39 | m?
(JEA7)
> = 15.39 | m? 15.4
T A7 7L bk R AEELD
SAERNEUE L | A= 320.61 = 320.61 | m?
Y = 320.61 | m? 320. 6
HERREIMT | L= 4.90  +  7.00 = 11.90
(7 A7 7L R) $¥No. ORI - 4. 9m, No. +13. 54#K7 : 7. Om
(t=15cmlL F)
> = 11.90 | m 11.9
TR LR T
R EEIUE L LV
=y y—1) | V= 15,39 = 15. 39
> = 15.39 | m? 15. 4
I FEEIEE L L0
(7277 k) | V= 320.61 X  0.05 = 16. 03
>y = 16.03 | m® 16.0
RISy AIEME LD
(=2 V—1) | V= 15.39 = 15. 39
> = 15.39 | m? 15.4
RSy HOERE X
(7277 R) | V= 16.03 = 16. 03
Y = 16.03 | m® 16.0




Y iE L w =% 7t A L
N T AT 7 v M 5 = v 7 U — |k
B 4 o | BB TR T m | w m Wm R w8 | kB | Bm | F B | R R
(m) (m) (m® (m® (m® (m”) (m® (m® (m”)

NO. 0 NO. 0 0. 00 0. 00 4. 90 0. 26

NO. 0+13.5  INO. 0 13. 50 13.50 5. 90 5. 40 72.90 0. 26 0. 26 3.51
NO. 0+14.3  |NO. 0 14. 30 0. 80 5. 90 5. 90 4.72 0.26 0. 26 0.21
NO. 1 NO. 1 5. 70 5. 90 5. 90 33. 63 0. 26 0. 26 1.48
NO. 2 NO. 2 20. 00 4. 90 5.40 | 108.00 0. 26 0. 26 5. 20
NO. 2+12.3  |NO. 2 12. 30 12. 30 4. 80 4. 85 59. 66 0. 26 0. 26 3. 20
NO. 2+18.3  |NO. 2 18. 30 6. 00 7.00 5. 90 35. 40 0. 26 0. 26 1.56
NO. 2+19.2  |NO. 2 19. 20 0. 90 7.00 7.00 6. 30 0. 26 0. 26 0. 23
&t 59. 20 320. 61 15. 39
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